2. If you have a child sitting on a slide, the force of gravity, G, is working on that child in
pulling him down the slide. If the child goes a distance of 2 meters down the shde from
point A to point B, as shown, and the slide is at an incline of 45°, answer the following
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(a) [8 points] Give the child’s displacement in the form of a coordinate vector.
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(b) [10 points| Find proj;G and orth ;G. Sketch G, d, proj ;G, and orth ;G below. Recall 6“
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that proj;G + orth;G =G.
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(c) [10 points| Is more of the gravitational force going to move the child or to pushing
him into the slide? How much work does gravity do in moving the child from point
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